
Serial cereals

Muesli is sold in 750g boxes.
Porridge is sold in 500g boxes.
Weetabix is sold in 1.25kg boxes.

                     

2 boxes of muesli cost £2.90.
A box of muesli and 2 boxes of porridge would cost £4.03.
How much is a box of porridge?

Mr Robertson buys one box of each cereal. He pays £4.34.
What does a box of Weetabix cost?

Mrs Kellogg buys 3 boxes of porridge and 2 Weetabix.
How much will she pay?

How much change would she get from £10?

Mrs McDougall buys 2kg of cereals.
What might she have bought? (more than one solution)


